SAMPLE  PSA
Q1. If 4th  jan,2008 falls on Friday,what day of week will fall on 4th Jan 2009?
a) Monday      b) Friday      c) Wednesday         d) Sunday
Q2. Complete the sequence 4,2,5,4,7,6,10,8,14……..
a) 10    b) 12     c) 18    d) 19
Q3. JK :  QR : : -----   : -----
a) ST : UV    b) WX : ZY     c)  CF : JL    d) BC :IJ
Q4. A die has A,B,C,D Written in clock wise order on the adjacent faces and E and F at the top and bottom respectively. When C is at the top , what will be at the bottom?
a) B    b) A    c)  C    d) F
Q5. If A is B’s brother,B is C’s sister and C is D’s father then D is A’s 
a) Brother     b) sister    c) nephew   d) data inadequate
Q6. In the sequence of numbers 5,8,134,X,34,55,89:then value of X
a) 29      b) 23    c) 21    d) 20
Q7. Rearrange the following letters using each letter only once to form a meaningful word and tell the middle alphabet in the arranged word.   E S U R N
a) U     b) E     c) S    d)  R
Q8.  5, 10,17, X, 37,50,65 the value of X is
a) 20    b) 21    c0 26    d) 29
Q9. Which number does not fit in the series: 0,1,3,6,10,15,21,28,37,45?
a) 0     b) 21      c) 37     d) 45
Q10. Complete the series 53,48,50,50, 47,?
a) 51     b) 46     c) 52     d) 53
Q11. 2,6,14,30,62, ?  ,254 
a) 124      b) 126      c) 132     d) 142
Q12. How many 3’s are there in the following sequence which are neither preceeded by 6 noe immediately followed by 9?
a) One      b) two     c) three     d) four
Q13. If all the numbers from 5 to 80,which are  divisible by 5 are written in ascending order,then which of the number will occupy 11th place from the top?
a) 35     b) 55     c) 25    d0 40
Q14. If day before yesterday was Thursday,then when will  Sunday be?
a) Today      b) two days after     c) tomorrow     d) day after tomorrow
Q15. Complete the series 1,2,5,14,41,  ?
a) 122     b) 123     c) 23     d) 24
Q16. Two letters of the word ‘TROUBLE ‘ have as many  letters between them in the word as in the English alphabet.which one of those two comes earlier in the alphabet?
a) O     b)  R    c) L    d) U
Q17. In a certain code “ 786” means “bring me apple” and “958” means “peel green apple” and “654” means “bring green fruit” which of the following is code for me?
A) 8     b) 6     c) 7    d) none
Q18. How many milimetres are in 20 centimetres?
a) 0.02 mm     b) 0.2 mm   c) 200 mm      d) 20000mm
Q19. What is the 6th term of the sequence?
80, 40, 20 ----, -----,------
a) 1      b) 5        c) 5/4    d) 5/2
Q20. If there are 150 people born in thev world every minute,how many are born every hour?
a) 9000    b) 900    c) 19000 d) 29000 
